y

W+ The molecule with smallest N—N bond distance and highest NNO bond angle is

TR 5B N—N Ay o wrw @ibiveld w1sa NNO T cmer wepht 24 &
XX W
./
©w : O
[C] NL’.O'I [D‘ NQOS O -
w7 ©
O
.'J' - . 2 *
¥+ Acid having +4 oxidation state of phosphorus is
TEEAER +4 WRY WE o afbe 3'A Y
-
a
' \ 204
[A]  hypophosphorous acid [B] phosphorous acid Ny A
TR TT Im Wfbe wor'an s '@‘0 r
/ o B} W
«[C] hypophosphoric acid [D] pyrophosphoric acid '11(
To'woe Re ot oA’ won T afts .
v
3. The correct order of boiling point is
IS AR m T3 TRy Rl EINbAT S y U8
[A] CH3CH2CH2CH2CH20H > CH3CH,CHCH;3 > CH3;CH,CH,CH,OH > CH;CH,CH,0H
-4 ""z'c “'- % 5 : ; "R-.-' ! ; " ‘ .- ! ?H |
e[Bf CHCH;CHyCH,CH;0H > CH3CH;CHaCH,0H > CHyCH,CHCH; > CHaCH,CHaOH
(C]  CHsCH;CH;CH;CH;OH < CH;CHCHCH3 < CH3CHgCH,CHOH < CH3CHCH,OH
' H

[D]  CH3CHCHyCH,CHIOH < CH3CH,CH,CHOH < CH3CHCHCH, < CHyCHoCH,OH

4. -Wﬁi‘éh reé'g'eﬁt does not give carbonyl compound on reaction ‘with nitriles?
o1 R Attt e R AR AR R

H, H,0
SnCl,, HCL H@ .\ v iy (B] DIBAL-H, H,

NI T IR [p] RMgX, H,0

—_— b L SN

Scanned with CamScanner



a with HNO, I8 %

ctio
. 5. Amine that forms yellow oily compound on w“a’ﬂ RS
_ HNO, 7 = R TR geA eeEen ¥ I i
4 2 - CHaNH2 2
: 2
W é i)

[C]  cH;—N—CH,
“
CH3

Po]ymer that contains polyamide is
RIS & SRR 7Y

Sl 66 i
oy [A] Teflon ] Nylon il
y L Gwm e 66 o
o / Gl Terylene [D] Bakelite
GREF fee iy

7. An organic compound 4 (C,H,,0) on oxidation produces B (C,HgOl. B forms oxime and -
shows iodoform reaction, but does not react with Fehling’s solution. A and B are -

respectively 3 T
<l T8 (T A (C,H,,0) WS 13 B (C,H,0) BeH T ( B & TR A5 FA WF AHS T
R cr@m, B cafor, w31 De R0 3 1 AT BRI e

[A] butan-2-0l, butan-2-one [B] butan-1-o, butan-2-one

REOF-2-w, R-2-wm FHebr-1 ol ARG
I6f.. 2-methyl-propan-2-cl, butanal | . - [D]. butan-1-ol, butanal i
2-FRIE- 2o~ 2w, b A 1<, it

‘Qmekpqﬂiqg point of a sugar solution when 342 g of sugar is dissolyed in 40 éwaten- is

(K, =0-52°C) ey iy :
: 342 g OF1 40 g e qge IR, oFF TR tom 79 ('.'r'rb”=6'; 527
JHED i [B{ 10013 GCQ‘ JOEE iy

D] 0-13°c

@ ';‘; 298 K, the e.m.f. of the galvanic cell mentioned below is (E2=1.1V)» =11 %
8 K WS oo fn cspedie GerE eomf W TR (B0 =1:1V)
Zn(g{za?* 107 M)|ICu?* ©-1 M|Culy

A 11859 v B 230V

[ -11v ‘ ; ' by -23V

10. The correct decreasing order of coagulation power for As,S, sols is
A,S TR (RIS, e WASA o Sl T : '

[A] Na* » AI3* » Ba2* B eoy Wil i
F1-uier ; : 4
L N e 1 :
& o : . 2
.[g.l AT glass, Nat D} Na* > BaZ* > Al**
(95 F U e HIA :

“14, Thé“'ﬁéur,dir}pﬁon number, oxidation state, number of d-electrons and number of
unpaired electrons of Co metal in [ColNH,)5(CO,4)ICIO, are respectively
_ “[COMNH,)5(CO,1ICI0, (TS Co AMFDR TR M, A A, IR FAM E

U R R 2 :
'~ e e s T 'yé‘.i.
}Em' 63,7600 5 B 7.2,71 T
R e oS
Jroie bimils agogly o me Q‘é\ AR
€147, 16, 4 1) (- 9 T P \q,\_y\\
DB , i
12. The correct:reactivity order of the following compounds for Sy reaction 1s
: T :’&-;ﬁﬁmaﬁmﬂmmwwMﬁ :
;&,’ 0 4 3 CHy ;
! CH3CHZCH,CHpBr caacg,ciﬁcus CHa(iHCHQB_tE _9}!,-0—3:_1\_ e e
S R BE it CHE o id wl CHy) Ry
; R D) b REenerh e J 2
Y v HrERe VR R R R P T g R R
o\[}('lﬁm-:iuw B Welleli<l o
; el o Iy, Y
w2

cl ‘%n’éiniﬂé 5 VAR Dl W=l <TV el

‘CEE-2016/2-D
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= f w ater
13. The number of water molecules in & drop ©

0-05 g =% agbrr e wE WR W LA

[A] 1-5x10%

[C] 1-5x10%°

F‘nr a reaction xNH, +y0, — zNO +wH,0, if

<5 RfF xNH,; +y0, —» zNO+wH; 03 TA x=4

J{ 2, 4 emv‘l‘%

alA] 5,4, 67

Il 3,24

@ The correct set of quantum numbers for the unpaired electron.

21
B 167210

22
V[Dl 6.022 % 10

o] 223

R R S WERAOR (FRIER FARRER A e 1A

7
- 1A] %3,/0, 0, +4

[c] 20,0, +é

16. The correct order of ionic radii is

o 3,4, 14}

L]
D] 2,21, +3

[B] N > Nat

(Bl 0% » - gt

weighi'® 3

=4 t_heny’zw
ﬂﬁ“wzmt’ﬂm

> 02~ >F- T\

T NS-.‘:T\ i

.05 g is

are respeéfiv

g A0
N ®$\
4™,

b 17, Which of the following has a linear shape?

.iAl 80,

‘el o

T G G i v

o Gt B
ofl noy o
3% D] NOj A OT0M o

(6]

18. The volume of one mole of an ideal gas is increased to 10 times of its initial volume

isothermally and reversibly. The change in entropy is

“;‘“Wﬁiﬁwﬁtwmmw 10@mmﬁ$wg‘m

—[AI.’-"SOR =

(B]  2-303R
€] 0:1R Pl 10R
¢ i i .
19. '_I:lr‘LB solution having highest pH is
pH 4T I wah T'=
Al My B M ug
Toa10 : hOO
)M e O T T et : [D] —NaOH 3
10 RS 100
20. In the Io]luwmg rear.uon e ws
o e . 5 TR
% T SBr +QCOZ' @453&‘ +Br03+6HC0 )

[A] bromine is’ reduced and carbonate is oxidized

_a’ﬁaﬁﬁﬁ%uwmwﬁsﬂ

Bl bromine is oxidized and carbonate 15 reduced "‘3{“&0
3'ﬁ-1 s e T RS =W

[C] bromine is neither oxidized nor reduccd RN\ B
- 2w wRos T FF fraiRee = 2
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i molucﬂlc of heavy iWa
cons in & .25 “The. product formeq bY the r,
% v T SOC, ¥ s ﬁﬂ:ﬁo" of SOCI, with white phosphorus is-

R Bem aMTD! T

ctrons and neut

21. The number of protons, ele

" respectively sl quEred

) e AR EhsH 3 s %
m-nﬁhaﬁw‘pwaﬁw ; D00 ol roi, g P B %xw,}
W 10, 10, 10 B 8 g i B so, ©- ep @

' 0, 10 (o] BT PR : 5% i
o 1o L ; o1 roci,

[€l 10, 11, 10,

d then treate ]
smpsphere and then (Teags {28, 0-008 MNa S0,
gen & of N‘f" S5 n : is 1=0tomc thh 0-01 M glucose solutmn The' deg:ree of dxssoclanon

. 22. A piece of Mg ribbon is heated to redness in nitro
water. The gas evolved is o7 TS R R ﬁﬂ‘l
Mg T R b e RerTe T A
TR (I CATRCOl TR

0-004 M’NaQSO'q '*‘@0-01"14 4R T S TR | Na S0, 3 R T 2w

B m /”75%1;'}5’3:_‘“./ HEGat o il [B] 50%
o[A] NH, (B) H, ik e L '
_- “cels, 25% ;. e, EpR S
© o, ol N : O wonss o P B 4
& i

27. The solutmn whmh will Ireerf aL the lowcst t.emperamre is
vﬁﬂ?m tww s T ol S :

% T onpeund whith will not give: precipitae-with Tollen's Téagec: 28

e R S e S FRY (IR G §F

~ [A] ethyne [B] 2-pentyne 1A]
o o i B ! [D] 0 ”‘““2{30413 :
[c] 1-butme Cr 3-methyl-1-butyne :

28, When electncaty is pasaed thmugh a solution of AlClB, 13' S e oi Alis dcpusme,d at th
cathodea The number:of faradays-passed:is =~ = 5

ACL; 3T a’sﬁwmﬁﬁtﬂwﬁww cww 13.5°g mw;sv:sn mwmﬁ
ﬁ!{m AR 27 !

3 fiaite-1 R

o[B] CBI‘2==CH2 8[A] 1.5+

{Dl z QBI’2 -=CH"-CH3

il
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¥ / "\ ;
£ lone pair RCHACH JOH
er O 5 x5 L.afép ﬁz can be c.om-ertcd '.; RCH.

29. The molecule having maximum numb
S a—— R A
S, TN XeF,
; C[A]L. F . [B] G
g A

C
,CH COOHby which of the fol!.owing'seq\lences

g

< RCH,,CH,OH % R
7 gy cﬂzcﬂgcoogzq
p] %03 A ‘[{s}/ PBry, KON, H0*

ATl XeF, e

p_{)(%\.
es B- On heating, B

C] KON, H,0*
gw‘ith NH3 glv l : H -H39
to give CHSCH NHQ

oy T2 B @ C"@
NH, wiAT

'30. An organic compound A upon reactin
C in presence of KOH reacts with Bry

b1 teW M A G NH, < e R <R B TR T
" KOH 7 Tifes Br, <oore R #R C e B CHa 3Otz
B! CHT-Cl H—COOH

CH3

Which of th : St
34. i ﬁ; @!:t;‘Oﬂawmg atoms will have degenerate 2s and Qp Or'blta].s? :
WmﬂsWprﬁﬁmWﬁf‘m'., ;

_[A] - CHaCH;CH,COOH
Al R i :
olAl g e “ 6 (B] L

[C] = CH3CH,COOH o CH,COOH %cpo\\

i Dl Heyo i o e

-"31."{&1 the chemical reaction : OM'
. : CH,CH,NH, +CHCl5 + 3KOH - (@ + (B ¥ 3H,0
thc compounds (@) and (b) are respechvely

P Fif CH3CH NH2 +CHCI, +3KOH > +3H20~“ A (@) HF
!]ﬂa 2l it - B = ot 4 b g

B C,Hsg N { and 3KC1 }A] ;_+ve arui +ve : @ [ﬁ] +ve and —ve

o C ,HSNC and 3KCl
" c HNC = 3KCL ¢, HCN = BKCI e il +ve-.."" +ve TIF —ve
CH,CH, CONH a.nc[ 3Kc1 D] C,H.NC and K,CO ; K _' iy e El e . : g o o
v Pl M adien Gt o = o L O L i AR
i clmve TIF Hve Vs q} M

—ve TTF =ve,

CH,CH CONH2 “=® 3KCL CHNC '.EH?KRCO& [ a0l

ces propanone and propmnaldchyd
tice w1th edge 1ength 0 556 nm. 1f 1t con

32. Ozonalysis of an organic compound A produ
Ca.'lcmm metal crystal'l.\zes in an fec m,. )

eqq_J.moIa:mlxtu:e A-is ey
aﬁm@ﬂAaw’ﬁ’a‘aﬁﬁiﬂme’mﬂmawwa’ﬁﬂ'

[B] pent-2-ee

C15-2-%

2 mem}"]:ent 1 -ene
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T : A
Yoy 5 f o Ly s solution is §-.:J\\ e

u
37. The Correct order of pK, values of amines in aqued

oY TS <R pK, TR ST 0 (R

£ the followin
which @ & Statements i MO true? -
" gare 1 G W“W?

ib?( [nterstmal derm, res‘m E

4 vt el s
‘U_(f (CH,),NH > CH,NH, > CHy)oN > NH; / w52 T = m%m W ﬁ o in dmmy of the: m.mame -

2

; ' NH
[B] (CHy),NH > (CH,) N > CH,yNH, > B, ol Frenkel defects result in the i,

@‘tﬁwﬁqmmwﬁ

crease in denslty of the substance
. NH; > (CHy)3N > CHZNH, > (CHy)NH V

il vacancy defects, result in the decrease in Elensu:y of the. s“bsmce ‘,

[} NH, > CH,NH, > (CH,),NH > (CHg)3N i
e : ReyR T T mﬁ R o

ol Schottky defects result i ‘i’ decrease in density of the subsme

38. The correct order of hydrauon emha.‘lpy is -
E-td wﬁw TS mﬁa T P A

mﬁﬂmmﬁwnﬁmm

+ + o1t ;
[A] Li* > Na® >Rb' - K 8] Rb* > K’ >Na ‘
42. Which ‘of the” following 3" Kedies ¢ transmon

oxidation states?

WWWMWWMWEMW mvgm’w

.{er’:* > Nat > K* > Rb* [D] Rb" > Nat =K' > Lit

9. The hybnd orbltal used by | bonm in diborane is,
w‘zm T TERFA w@ﬁs w@RGa TR

43, Amsole on reaction with excess HI gwes Lo
wfefie. HI 3 751 anisale 3 fifme SR W

NMn.

W S g s B sp?

s el Dl

’Ez' and E, respectively, then -

he enf. of the following cells are £, " phmvhodtde SN

L zr./zﬁzf (1‘M1|t.cﬁz* L M)/Cu Wﬂm’@ﬁwmﬁw

B} memyhomde a.nd. memanol,,% e
ﬁww e e .

'/an*mMICd*'*wlMJICu'
gwﬁﬂ'GIWEmf 1WWE,.E F E, ’i’ﬁ

19( memyhoa,de and phenol
ﬁﬂm’mm *sn? ﬁTFI

B] E,>E,>E §
: : l T 9 d pheno'l

o) Ep > B> By oo
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@ How many five-membered and six-membered
buckminsterfullerene [Cm]?

aﬁawmngzaﬁﬂc@mmmwww

-membered Tings

®[A] 12 five-membered rings and 20 six:
1251 EE TR W 206 W TS
“4[B] 12 five-membered rings and 12 six-membered rings
1201 <imt IHE T T 1281 1 TS TN
4[C] 20 five-membered rings and 20 six-membered rings

2081 IF5 THITE T WF 2000 WWH FHIE T

u‘:{] . 20 five-membered rings and 12 six-membered Tings/

2081 it TRYE T W 125 W T T

, What will be the mo]ar mass of a gas at 1 bar pre_ssure.
density of 1- 29 kg m3 at 0°C?

T TS 0 °C TS, @bl o &R 1-20 kg m 2, (TR
THR =1 Fm e ¢

-,
1Al 2-93g mol'l '

1'1 0. ngo’i -1

Wﬁich of ‘the’ following statements uis. correct’-’ :

T, ﬁm @Fiflh T % ?

A Aqueous sclutmn of CH, COON is alkaline. .
CHCOONa?ﬁﬁNEﬂW@HIﬂI ;

; b f
¢Aqueous solunon of CH COONa is acidic.”

CH coomwﬁﬂmmﬁaqm

Pk e

CalC] Aqueous solution of NH,,Cl is allkaline. 7=
NHcmuﬁmmWiﬂt

rings

w1 TS T M
»

if at sea level th

Bl 0.203gmol™

@ 0.0203g mol™

calues for NaCl, Hc] and CH . i X
Q0Na are 126.
4Scm?

1.0 scm? mol™! TCSpect_we]y A mol™}; 425" 9s|;m= ol

value for CH ks
ol HCl W% CH,COONa 3 A o 4,COOH is
Na T 126:4 Sem?

5cm? mol™t
91-0 ‘i‘m cnacoma-q K, T %

are  present
i

hY
P
8 and 9l

mol~!, 425.9 Scm? mol™?

e " Fisd b
; ' 461-3 Scm? moal~! ; :
Wity tM i - ‘W( 390:5 Scm? mol™t ‘\J
i : j A i T R A
; 306 sem? mol !
1c) 2 AT D] 321:6 Scm? mol™!

48. If the t;'f}zrr;g;:r::n?’z 39% Cﬂmplettun of a first-order reaction.is t; and the time
£equire pletion of the same reaction is t,, then what wﬂl ‘be the correct

,elat"m between 1, and 1,?
qﬁ@mﬁwwﬁﬁme%wmgwwwmmgmw
o A G 1y SR 1, A% o f 77 has e

Bl ta =t NG
0], =5, R
; N g\*ﬂ‘ '\.n
49. Whlch Of the following ion: has “the highest magneuc moment va!uue? o /'\q:°
Wﬁmmﬂtﬁnwwwmmﬂw 0

(Bl lCr{HZO'I 1‘“

o _wnuizom?i

‘,5} The produ ts in the followmg reacuon are
7 o Rivre aqu e cmsmn m '

g,.hydm ) AIC
+ ‘C’HaCO!gO :5 ! ) N

@H— acetophenone and acet\c famd

_-.‘-'\qﬁ'@@?’ﬂ o qﬁﬁ@ 455%5
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Y- Ny

cect order of first i ionization i e :

\

Pﬁten
’\ Th’ e TR ﬁ o tial amons the . tollwnn,g elements g0 \'\

W‘Q‘q i
<B<C<N<()/.= ; } W

51. Patoms occupy the corners of an f.c.c. unit cell and Q ‘atoms oceupy the facal,
positions, and atoms are not present in two corners of each unit cell. The f em

the compound is a o

B f.e.c. SIS P oRAEAR GFF (TR FFE AE O"‘W‘lﬁ“ﬁ“m’ ‘Wlﬂm Be {B] Be.<3 9
sﬁzﬁmmﬁ‘ﬁfﬂmwimml@mﬂuﬁiﬁ H «BesC2NX0 N.B{ A -
B bef sy s B

A P BP0 @ ‘BHC‘C"‘“Q’ AP

s b
16l Fo 3 PO at bond energ:es of H—-—H

S, of Po, 1 @aw :heb’ and AH, for HCLis _9‘;‘“‘ Cl—1 are 430 K mol™! and 240 kJ mal™

espeC kJ mol? 'l'he bond energy of HCl is -

52. Which of the following aldehydes does not react with Fehling’s solution

c]-—Cl?'ﬂﬁiﬁ'lﬁﬂ i
mmaﬁﬁﬁmmﬁ'mmmwv o o e 430 o) ol FWMOkJ.mr‘wﬁﬂm

H
H/ £
o [ 4 99 - QOkJmol Hm““ﬁﬁ"ﬁﬂmu’a

M Methanal kEL ¢ Bl Benzaldehyde i ;
S 1!
Beiiced : e @ 245 k] O Bl 2901<.3mr1 i
: - -1 4
[C] - Ethanal =~ - ; . [D]- Propanal . cl 380kJm°_‘ (D] 425kJmul'1

: i @ which of the folluwmg pairs of ions has’ the same bund Lorder?

H al
. Which of the following \mactmns ca.nnor. convert >C 0 function Brov o AR Wﬁﬁ ﬂ‘m aﬁ'}

—Jgroup?
: w@ﬂt’ﬁfﬁféﬁﬁm >c= OWNJH Eﬂﬂﬁi‘sﬂﬁﬁ?mﬁ? -

Al 03 andCN R [B) NO*-and CN*
W ey

Clemmensen reduction . [B] Wol Kishner 0; o CN™  No* wWwoN'
e N and NO* .. D) oNStand CNE L

(D] Rosenmund reduction ofc]” €1 R ke, _.'l..] CN”dnd CN

CN"/SiT¥ NO CN- =% CN*

4 reTs RE
: 59 Whlch Df the’ fol.lowmg haa knghest d.lpole moment?
T @A ﬁcw T =11={ a&? ;

A R e TN

. 1€l S'bl'[3 , AsHs

554 ﬂgakeous mlxture cunta.lns O(iand N, in: the ratioof 1.: 4 bj we
number of molecules is

_"aﬁeﬂiﬁwo = N, mﬁm1 4wavmmn

The molecu]ar we!ght:of gas. Xis
ﬁﬁ%mﬁm cﬂﬂan‘m@wﬁaﬁm

64
0o 4.

X axet | X3 e = TA
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o wwmonawﬁﬁmvﬁmm@mwmﬁ

W/ B Bl Zn

[C] cu: ’J_ [D] None of these
%gET qblis TR

f the folluwm m
Wh":h : 2 OIGC“I“ all the bonds a.re nut eqUal?

6611‘ @mwmmmm?

; 62. Ig the following sequence of rreacr.ions, the compound B is
Lo fo ;:Tﬁ ffemms Teem @ @9 B ¥R W BFy- 4 ot a) g :_‘,‘Sa %
4, 3 ,CH3;—CH=CH—CH3—» O3, 4 E,B 10] NFg oy lPT CiF ip A
1Y > » o v $ -
o . X Fho g L S v
e 7 Ui i fil St
r h racter of th i
A] CH,CHO (B] CH,CH,CHO 1. e pasic cha e trans\tmn metal monmnde fcllows the order, < \\
n«ﬂﬁ@ﬂ“’{(‘@mmw:ﬁﬁﬁmmmﬁw i ok
o

'1'10 > FeO > VO > c,_-o

CTO > VO = FeO > Ti0 -

8 g ll?g]_

. Among the follnwmg, t.he aromatic compound is -

;wﬁm«mm’ﬁﬁwmi’a

Lo 6Al ? .

RI > RBr> kCI-!?'RF’ %=

®

reaction?

69 What is the compuund C in the follovnng

: o RS Co & - g 5 By
phe-nl\' Na.OH P A 002,410?: - *’Hm Y

47 atm.

concentration

W"hxch “of the fo]lowmg clectrolytes requ.lrcs maxlmum
coagulauon of As,Sg “sol? :

Sy T SO A @mﬁr

;iJ, !/J.

Al
Betizoic acid
Par Wiy i

j =p:cn

Dl _K;{Ecpnlz)ﬁl
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70. The IUPAC name DI_WCI is
c
/\'/‘\A/ GSTBR TUPAC X 24

\Mfr 1-chloro-1-oxo0-2,3-dimethyl pentane
1-%'7-1-7-2,3-SRfEE TS

[B] 2-ethyl-3-methyl butyl chloride ‘f‘-
2-3uiE-3-Raite T w7

: ¢[C] 2,3-dimethyl pentanoyl chloride

f ) o z-nfidiE ofreE B9
7 - i
. D] 3,4-dimethyl pentanoyl chloride ¢
0 34-sRfiuiE eroe # R

(4] Cannizzaro reaction s geini[B]
(| Friedel Crafts reaction ~ [D]

frroe-argbe R

5 F

72 Aniline in a set of reactions, yxelded a pmduct D. The compound D will |
7 aﬁﬁﬁﬁaﬁmaﬁmﬁmﬂmﬂn@mm| dn‘iID‘i’ﬂ

.Ip]

; s L
71. In which of the following reactions, new carbon-carbon bond ?s'nét f.c:'l’mfd

o e RS TgA FRA-TE TR T

[B] CGH, CH,OH ~ *

CHNHCH,CH,

Wurtz reaction::

e e

Aldo] condensation

sily dimeris;
13 102 ety e Nzo ‘because

a TR SRR ey N,0, Teom 3, 7
o has an’angular shape’ with

00— o
0—N—O @ @ age N—0 bond angle 132

% WR W R
ol NO, has ‘a total of 17 va.lence electrons
NO qucmwmmmﬂw 17757

« N,0, has a planar strucmre -
N,0,3 erbﬂﬁwﬁm : o
i T B
CJP(N has an odd elect.rnn 7 it
NO,® aﬁm%m s g

w}uch of the followms has different bond lengths between the: ‘halogen atom and
central atom? ¢

ﬁmmﬂmmm mmaﬁmgw@mﬁmmmmv

Bl ccn
‘JD‘ SiF,

75. An octa.hedral complw: of ametal ion has a magnetic moment of 5+ 92 BM and anott;:
octahedral complex of the same metal ion in the same ondauun state hasa magn
‘moment: of 1: 775.BM. The metal ion will be

i R (TR WW@HWWS% Bmwﬁmmmmm
mﬂmmwwmmz‘m 75 BM. mmmw \'I(l\' ;

[lb{{- C°2+

(o1 e8%% ©

Le

18] Fe”‘

> R T | ', e B M v g oint
76. An ‘ac[.ljl;aous.- s'gunon of which of the following _,;,(.,n_;_pgunds causes. mﬁre &‘&zmg ;
depression?

Wﬁmﬁm cﬁmqﬁum«WW @R T2
" ma/tcomﬂsuﬁm 7
Bl (ColH RO 5

1,1_
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77. Which of the following statements is cOFT®
o PP T R T G B TR

oin
[A] The slag is heavier and has higher melting P
g g e R S g AR

[B] The slag is lighter and has higher melting
TR ST T WK T e @R\

EC// The slag is lighter and has lower me!

Ao S T TR S T

3 ot int
[D] The slag is heavier and has lower melting poir

Ao S I W S EeE

78. The product of the following reaction will be

L s f RROR Seetfre 70 2T
Anhydrous (FE)

AICI. =

Sy w-benzy] chloride

EEE # A @
[B] . benzylidene chloride
- e A
1c] dipheny! metharie
whefiiz e ;
_[D]V naphthalene
,,_‘,_; A

WCEIﬁ“W HqqH T TR ﬁmww
- oo e T SR B

i Al - 2-butene T i 1B]

2ﬁ©ﬁ-=l

“EE-2016/2-D 20

An olefin is treated with ozone and then with zinc and water. The products’
,1’* are’ propa.nal and propan-2-one. The olefin will be i

mmmmﬁma'ww

D] S aastgta bt -

i

during the extraction of copperd i
ct du - 3

¢ than the metal. \/

point than the
1ting point than the me€ J

w1 WP
than the metal.

1-butene

1-fEfis

2-flgrE-o-fele

80

gl. - Behzené dtazomum cﬁlnnde,’ srofol

Toluene is allowed to .
eact
benzaldehyde, The reacuonw::l c(a:\lljlrzmyl chloride and the product on hydrolysis gives
Ci
BT W A Py
peapi Y A Rﬁmmﬁﬁ'@wﬁ@mmﬁcﬁqnﬁmmﬁ@kﬁ

(A] Stephan reaction

: _ [iB] Gattermann-Koch reaction 5
2 coiorT-3e, e
(€] Clemmensen reaction \UD/ b &
: | Etard reaction 3
a‘z“"“;‘ AR : «:%ré Rfem

s .

on reachon‘ \inth phenol in weakly basic medium g;ves

ﬁwﬁﬂmmwﬁmﬁ’ﬂmwmﬁwmmmimﬁaw @ 2A g

Al chlombenzene

! i [B] p-hydroxy azobenzene S
o ; ; v ) i
PATRRE A5 . pERE T awTElE \\@’ b
\}]/ dlphenyl a&her BRI {D] p-aminoazobenzene

p-ai Ergaricr

82. The acid dissociation constants of methanoic acid, monochloroethanoic acid and

ethanoic acid are K, K, and K, respectively. If K, > X, >K,, then =

R R oS, ‘Fi’iF: Wqﬁ@mﬁﬁ‘ﬁwqﬁmmmwm&.x
I K. ‘ﬂﬁK > K>k, tq,

‘Bl pK, > pK; > PK; s
oDl pK, < pK, < pK,4

83. T‘he'équi!ib:?i_ﬁm-constmt for ithe rgaéﬁbn\N,z +3H, =2NH, is Kij. The equilibrium

constant for the reaction NH, = %Nz +%H will be

84. The number of enanr.iomers of the comf:min& CHMCH.Br-.—C&l-iBi'J—. CDOHIS

CH CHBr—CHBr—COOH TR T TR TR XA el
[A] 0O ; T Bl 1 oo
. g G ;ﬁ i e : "\ 1/ / U\’
€ 3 ; 1 ovpl 4 <
EE-2016/2-D 2
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85. Which of the following is more stable? i L
wers fml (P Al A - -

Al Benzene sulphﬂﬂa.rmd.e

- CN . :
A =l | [saiiel Mk o

2 R
4\5“3‘
c] Ortho-sulph, i
[ e sulphobenzimid, M '\If( Ranitidine L T
cs"’ '

Four etals
90. Fowsjmetals . X, ¥ and Z have standard electrode potentials as ~0:13V, ~0-85V,

[B] Sulphanilamide A AR :

e[D] CN°

.86. Diamagnetic complex ion is C‘éma {1‘1‘:‘”‘0& i

. o TepERRm wbe SR T a(}QSVand“-‘H)
gk, ) . _P‘f 22 V respectively. The most reducing metal is
L [A]  FelcN?i- ) FE(HQO]E ! Y WE Z 3, far O =
. cn? G W+P— Qz‘jmﬁﬁﬁm Wgﬂm 013 V, -0-85.V, 025V o
=] i a1 ]
5 :
[C]  FelCN)3~ D] [CoFy] 5 i y 6‘“}’

ater at 100 °C. If the wo

365 calorie heat is requlred to evaporate one gram W
emal em:rgy per mole® wal

the system is 651- 3 calorie, then Lhe mcreascmlﬂ
=< 'be :

100 °C Tmeers wmqﬁ‘w%wass cﬁ%tﬁl"ﬁ W
.651-3 (7 €T afs TF AR m;mwﬁﬁ@‘ﬁ %1~

“[A]"~ 286-3.caloric ' [B] 10163 calorie” <
- [C] 5918-7 calorie D] 72213 calorie”

atlon constant of NH,OH is 4.745. Ab 1"!'

Sl. The nega.twe logarithm of chssoc;
d 0-35 mole NH,Cl per litre. The pH of th

" contains 0-035 moie NH,| OH an

; soﬂutlon is 5
S AONH orﬂﬁwmﬂwmﬁﬁmmct 745, <51 IFR TH ar%ﬁi‘ﬁvs
NH, Hwoaswanﬂ4c1m|wmpﬂq’a ‘

EE 2 T 5 e :
298 KW PbCl 33@@@%?\“ ‘3:2)<'!L(Y6 %CI?WQ’-‘!

“ahg € (Sle : & ot
[A] 2x1072 mol_Li1 2 -V{s;/a-a %1072 .'mou:

@ Dl 10melLth

(€} 1072 miol L7~
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93.)The amount of oxygen produced on heating 61-3 g of KC10, is
61.3 g KClO, Tag 3fits Seom a1 wiweer e 29

Al 6g [B] 12 g

e[C] 24 g ,_L’D']" 36 8

207 2

}4 The correct order of second ionizaﬁnn;ene;"gr for Cr, Mn and Fe is
Cr, Mn W& Fe T I3 RSk wrdwad e ws Twe 273 m@

V
e B Cr > Mn > Fe ‘ 1§l Mn>Fe>Cr m@

o’

.‘[9}/01'>Fe>Mn

- ?{D] Fe > Cr > Mn
. ,

95. The correct order of hybridization used by nitrogen in NOj, I?O; and NHY is
NOj, NO3 “IF NH} © F5'cad e ¥ 7o oR XA

,KUK‘/sp, sp?, sp®

» B spisp?, sp:
[l sp? sp sp®

[D] - None of these :
e «re T

densnty at STP is i

27°C’\":$_IWW2 bmﬂﬂ@ﬂﬁﬁlﬁws 46gdrm-3 STPEWW'{W

: #[B] 3gdm™

Sy o 2P 3

[D] 10gdm~

G-04410

For a reaction, AG = I
97 ~67.2

change is kand aH= =42 kJ at 300 K temperature. The entropy \
300 K W ey iy 1
e BRATS G = -67.2 1w arr -

-42k T o fase §
G
Y
KT

‘a% 1

(Al 42 K-l
(Bl 84 gk

[c] 100 JK!

-461 120 JK™*

98. The sw_:ldal‘d enthalpy of combustion of carbon is —393-5 kJ mol™ . The amount of
heat released when carbon and oxygen gas produce 35-2 g of CO,, is

FHR T T STPR TW - 3935 1 mol-L. mmmﬁmmm:&sng
€O, T X W @ S o

(Al ‘31*'?@FJ B} -350 kJ
€ +400ks Dl +310 kJ

99, In Lassaigne’s test,  boiling sodium thiocyanate with ferrous sulphate produces

W @W i‘%mvm‘mm% CFE, TR TS Tew TR SR TR

lAl" Fe(scm2 : [B] FelSCN),

_@ ljla4ch(C'ngl. - oDl Na,FelCNl,
100. The ﬁ'rbdu'ct of the following reaction is
oo it ﬁﬁmﬁw Teom T3

(CHCH c:u)amo —of -,

[Al CH,CH,CH,0H [Bl CH,CHIOHCH,

[C]  CH,(OHICH,CH,(OH) D] CH,COCH,
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